








Find the option which should replace (?)

3 * 3 * 8 * 3  = 429 
1 * 5 * 6 * 7 =  245
2 * 4 * 9 * 8 = ?

A. 874
B. 872
C. 278
D. 886



Find the option which should replace (?)

HERO  : GQ 
PAPA : BB 
SSC RAILWAY : ?

A. HKB
B.  BKB
C. KKKR 
D. KKKO



rectangle represents men, 
Triangle represents educated
Circle represents urban 
square represents government employees.

Which one of the following represents the educated men but not 
urban ?
निम्ननिखित में से कौि शहरी िही ीं बखि नशनित पुरुष ीं का प्रनतनिनित्व करता है?
A.9 B.5 C.4 D.11



Find the option which should replace (?)

97 : 101 :: 113 : ?

A. 118
B. 127
C. 116
D. 121



Find the option which should replace (?)

512 : 12 
911 : 11
210 : ?

A. 3 
B. 7 
C. 6 
D. 5



Find the option which should replace (?)

A.80
B.114
C.108
D.None of these



Find the option which should replace (?)

A. 8
B. 7
C. 6
D. 9



Find the option which should replace (?)

6 , 11 , 44 , 47 , 94 , ?

A. 184 
B. 92
C. 95
D. 208



How many times are the hands of a clock in a straight line in 
84 hours ( starting from 00:00 )
84 घंट ं में एक सीधी रेखा में घडी के हाथ ककतने बार ह ते हैं

(00:00 से शुरू)

A. 44
B. 77
C. 154
D. 86



Find the option which should replace (?)

A. 58
B. 51
C. 65
D. 64

7 3 2

4 9 6

2 1 5

69 91 ?



Find the number of triangles in the given figure.

A. 10
B. 16
C. 20
D. 15



Find the option which should replace (?)

Glucometer : Blood Sugar :: Sphygmomanometer : ?
गू्लक मीटर: रक्त शकक रा :: स्फिग्म मैन मीटर:?

A. Earthquake / भूकंप

B. Blood pressure / रक्तचाप

C. Specific gravity / किकशष्ट गुरुत्व

D. Atmospheric Pressure / िायुमण्डलीय दबाि



Find the option which should replace (?)

Glucometer : Blood Sugar :: Sphygmomanometer : ?
गू्लक मीटर: रक्त शकक रा :: स्फिग्म मैन मीटर:?

A. Earthquake / भूकंप

B. Blood pressure / रक्तचाप

C. Specific gravity / किकशष्ट गुरुत्व

D. Atmospheric Pressure / िायुमण्डलीय दबाि



Find the number of triangles in the given figure.

A. 15
B. 10
C. 12
D. 14



Find the option which should replace (?)

RAT : 42 :: MAT : ?

A. 18
B. 47
C. 54
D. 74



Find the odd one (?)

A. ee gg ii kk
B. Pp rr tt uu
C. Bb dd ff hh
D. Kk mm oo qq



Find the option which should replace (?)

34 + 5 = 36
56 + 2 = 39
41 + 5 = ?

A. 20
B. 30
C. 40
D. 50



Find the option which should replace (?

A. 12
B. 13
C. 10
D. 11



Find the missing ONE (?)

75 : 72 :: 74 : ?

(A) 36

(B) 56

(C) 63

(D) 65



Find the ODD ONE (?)

(A) 254

(B) 286

(C) 205

(D) 845



Find the missing ONE (?)

(A) 9

(B) 7

(C) 5

(D) 3



Which two signs should be interchanged in the following equation to 
make it correct? 
निम्ननिखित समीकरण क सही बिािेके निए नकि द निन् ीं का परस्पर बदिाव

ह िा िानहए?

8 x 2 +5 - 16 ÷ 4 = 14 

(A)+ and –
(B) + and ×
(C) ÷ and ×
(D)÷ and +



Find the odd letter/number/ word from the given alternatives.

A. 552 
B. 736 
C. 833 
D. 561



If 4 × 6 × 9 = 649 and, 9 × 8 × 4 = 894 then 3 × 7 × 2 = ?

A. 294 
B. 732 
C. 813 
D. 272



If G is 5th to the left of K and 2nd to the right of L who is 11th from the right end 
then what is G's position from the left? 
यनद G, K के बायें से 5 वाींऔर L के दायें से दसरा  ू है, ज दायें छ र से 11 वााँ है त G की बायें

ओर से खथिनत क्या है?

A. 5 
B. 4 
C. 6 
D. Cannot be determined



Statement –

I. All bats are lions.
II. No cow is lion.
III. Some camels are cows.

Conclusion -

I. Some lions are camels.
II. No camel is bat.
III. Some bats are cows.

कथन –
I. सभी चमगादड शेर हैं।

II. क ई गाय शेर नही ं है।

III. कुछ ऊंट गाय हैं।

कनष्कर्क –
I. कुछ शेर ऊंट हैं।

II. क ई कैमल बैट नही ं है।

III. कुछ चमगादड गाय हैं।



Statement –

I. All bats are lions.
II. No cow is lion.
III. Some camels are cows.

Conclusion -

I. Some lions are camels.
II. No camel is bat.
III. Some bats are cows.


